Alingsas BS

Partavling A-B 2021-11-08

Partavling, 9 bord, 18 par. Antal brickor: 24. Medel: 192.0.

Plac Par Poéng % Namn MID Klubb
1 14 272 70.83  Thomas Johansson - Hans Bogeskar 18680 4476  Vargarda BS - Alingsas BS
2 4 256 66.67 Henning Kristensen - Borge Davidsson 19445 12757 Alingsas BS
3 7 232 60.42  Jan-Erik Gustavsson - Morgan Wiklander 82593 1785  Alingsas BS
4 9 230 59.90 Henrik Carlsson - Clas-Olof Olofsson 6501 9222  Alingsas BS
5 1 219 57.03 Kent Johansson - Roland Andersson 1834 1766  BK Lyx - Alingsas BS
6 8 199 51.82  Ulf-Géran Andersson - Kent Christiansson 49339 49208 Alingsas BS
7 5 193 50.26  Lars-Bertil Lund - Kerstin Johansson 18620 43312 Alingsas BS
8 13 185 48.18  Britt-Marie Alm - Yvonne Svensson 61351 61352 Alingsas BS
9 2 184 47.92  Stefan Lundh - Goéran Andersson 1780 1763  Alingsas BS
10 3 182 47.40 Karin Johansson - Tage Blomqgvist 13067 81101 Alingsas BS
11 11 178 46.35 Bo Krantz - Gunilla Westerdahl 90027 94081 Alingsas BS
12 6 177 46.09 Lars-Erik Melander - Rosemary Kaplun 42943 64025 Lerums BK
13 18 172 44.79  Curt Nermark - Torgny Andreasson 55037 1825  Alingsas BS - Herrljunga BK
14 16 169 44.01  Ake Axelsson - Lars-Géran Andersson 18757 13903 Alingsas BS - Vargarda BS
15 15 163 42.45  Marie Carlsvéard - Anneli Bjérklund 26482 94289 Alingsas BS
16 10 153 39.84  Karin Lindgren - Lembit Murro 85876 40039 Alingsas BS
17 17 150 39.06 Inger Wiklander - Mona Néarkestam 3468 89811 Alingsas BS
18 12 142 36.98 Maria Edshammar - Lisbeth Kronlid 61357 61343 Alingsés BS
1 4 DKn1082 Basta kontrakt 2 4 K1092 Basta kontrakt 3 4 E75 Basta kontrakt
Nord v D87 4v O =-420 Ost vE76 3vy OD-1100 Syd vKD2 3NT S =400
Ingen +Kn4 NS + E965 ov + E8743
#E32 & ¢ v & NT #Knl0 & ¢ v & NT »K3 & ¢ v & NT
46 « E954 N6 3373 4Kn83 4E64 N29586 4Kn842 463 N9 9699
vE54 vKKn1032 S 6 3 3 7 3 v84 vKKn1052 S 2 9 5 8 6 vE953 vKnl086 S996 99
+D108532 ¢ E9 O 6 10106 7 ¢ K32 ¢4 09 4846 +D9 ¢ K652 033643
#DKn8 2106 V 6 10106 7 #K7432 #ED96 V94846 *E62 «Kn104 V43743
4 K73 4 D75 4 KD109
v 96 v D93 v74
+ K76 + DKn1087 + Kn10
*K9754 #85 »D9875
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 3 2NO-1 43 50 150 10| 9 17 340-1 +Q 50 150 10|13 2 2NN+1 vJ 150 150 1.0
12 11 4v O-1 43 50 150 10|14 8 2v0-1 +Q 50 150 10|18 5 2NN+1 vJ 150 150 1.0
6 16 34 N-2 ¢ A -100 110 50| 7 3 240= +Q 90 120 40| 8 4 24S= +Q 110 100 6.0
10 5 24 N-2 &T -100 110 50| 6 16 2NV= *4 -120 100 6.0|10 17 34 S= +Q 110 100 6.0
9 17 3vO= v9 -140 6.0 100|100 5 240+2 ¢Q -130 6.0 10.0(16 7 2¢ N+1 &J 110 10.0 6.0
14 8 3vO= 43 -140 6.0 100(13 1 240+2 T -130 6.0 100|11 6 INN= v6 90 6.0 10.0
18 4 2vO+1 &4 -140 6.0 100|15 2 340+1 ¢7 -130 6.0 100 1 12 3NN-1 v6 -50 3.0 13.0
13 1 INV+2 «Q -150 20 140|112 11 34 0+2 7 -150 1.0 15015 3 3NN-1 v8 -50 3.0 13.0
15 2 44DN-2 92 -300 00 16.0|18 4 3#40+2 +Q -150 10 150| 9 14 3NN-2 v] -100 0.0 16.0
4 « DKn4 Bésta kontrakt 5 493 Bésta kontrakt 6 & K85 Bésta kontrakt
Vast v52 5& N D -2 -500 Nord v DKn7 ANT N =630 Ost v 7643 44 O =-620
Alla + Kn9g NS + Kn10643 ov + Kn1072
#98765 & ¢ v & NT #D82 & ¢ v & NT »32 & ¢ v & NT
& K82 410953 N9 7346 4 DKn10742 4865 N 10116 6 10 | 49 4EDKN1062 N O 5 6 2 2
v10976 vEKKNn843 S 9 7 3 4 6 v 10932 v K865 S 10116 6 10 | vEK98 v10 S056 22
¢E10542 7 O3 6 107 7 +K + 387 032672 + 386 +D9 O 117 7 108
«D #Kn10 vV 36 107 7 #Kn9 2K1076 V31672 #DKn10864 #EK97 V 117 7 108
4 E76 & EK 4743
vD vE4 v DKn52
+ KD63 ¢ ED952 ¢ EK543
#EK432 #E543 »5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 12 3v O+1 #A -170 130 3.0| 4 15 3NN+1 5 630 160 00| 9 5 440-1 ¢+A 100 16.0 0.0
8 4 2v0+2 &A -170 130 3.0| 2 1 3NS= «Q 600 110 50|14 10 34 O+1 +A -170 140 2.0
13 2 2v0+2 &A -170 130 3.0|12 7 5¢ N= 45 600 11.0 50| 4 15 34 O+2 &5 -200 120 4.0
15 3 3vO+1 &A -170 130 3.0|14 10 5¢ S= «Q 600 11.0 50| 6 18 540+= ¢ A -600 9.0 7.0
10 17 4v O = *A -620 6.0 10.0(17 11 5¢ N= v8 600 11.0 50(16 8 5&V= +J -600 9.0 7.0
11 6 4v 0= *A -620 6.0 100| 6 18 4¢ N+1 «Q 150 6.0 100 2 1 44 0= ¢ A -620 5.0 11.0
16 7 4v 0= *A -620 6.0 100 9 5 24DV-1 ¢Q 100 40 120(12 7 44 0= ¢ A -620 5.0 11.0
9 14 4¢vDO= ¢K -790 10 15013 3 34 V= vQ -140 20 14017 11 44 O+1 +A -650 20 140
18 5 4vDO= &A -790 10 150|16 8 3NS-2 a2 -200 00 16.0|13 3 44 O+2 &5 -680 0.0 16.0
7 87 Bésta kontrakt 8 4 K873 Bésta kontrakt 9 & E853 Bésta kontrakt
Syd v K752 44 V =-620 Vast vED984 44 N =420 Nord v 82 4v O =-620
Alla + K5 Ingen ¢ D432 ov ¢ E92
#D9872 & ¢ v & NT »- & ¢ v & NT #8653 & ¢ v & NT
#1094 4KDKn632 N 7 6 7 3 3 « D6 4 Kn94 N 6 8 8 106 aKD942 46 N6 3345
v 86 v EKn3 S66 7 33 v KKn7 v 653 S 6 9 9 106 vD10965 v EKn4 S6 3355
+Kn964 ¢ ED 06 7 6 109 + E86 ¢ K95 O7 4436 + K74 ¢ DKn103 O7 9 108 8
#KKn105 43 V 6 7 6 108 #EKKN87 #10963 V74437 »- #ED742 V 6 9 108 7
4 E5 4 E1052 4 Kn107
vD1094 v 102 v K73
4108732 + Knl107 + 865
»E6 #D542 #KKn109
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
1 8 14 O+1 #A -110 160 00| 1 8 34S+1 #A 170 150 10|11 7 4NO-2 «9 200 140 20
10 6 14 O+2 #A -140 120 40|15 5 34S+1 &#A 170 150 10|13 5 3NO-2 «9 200 140 20
13 4 14 0O+2 ¢2 -140 120 4.0|14 11 3#V-3 +3 150 120 40|15 6 3NV-2 3 200 140 20
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14 11 34 O= v9 -140 120 40| 3 2 24 S= A 110 100 60|14 12 3NO-1 ¢6 100 100 6.0
15 5 INO+2 v4 -150 80 80| 7 18 4aV-2 +3 100 80 80| 4 3 2NO-= +5 -120 80 8.0
16 9 14 O+3 &A -170 50 11.0|17 12 44 V-1 a7 50 6.0 10.0|18 8 2vV+2 &8 -170 6.0 10.0
17 12 14 O+3 &A -170 50 11.0|10 6 44S-1 *A -50 40 120 2 9 4v V= ¢A -620 20 14.0
7 18 14 O+4 ¢2 -200 20 140|16 9 34 S-2 *A -100 20 140|110 16 4v V= *A -620 20 14.0
3 2 44 0+2 &A -680 00 16.0(13 4 2#V+1l 3 -110 00 16.0|17 1 4vV= *A -620 20 14.0
10 4 K109 Basta kontrakt 11 ~ E87 Basta kontrakt 12 4 E5 Basta kontrakt
Ost vE2 ANT N =630 Syd v DKn7 44 V =-420 Vast v EK1085 5¢ N =650
Alla + KKn7 Ingen 4983 NS + K54
#ED865 & ¢ v & NT #E1043 & ¢ v & NT +1086 & ¢ v & NT
4Kn7542 4 E86 N9 8 8 8 10 296432 «KD10 N85227 4 D62 4KKn10984 N 1110117 9
v 108643 vKn5 S97859 vE8543 vK962 $S85227 vDKn2  v43 S 1110117 9
+10 ¢ ED9542 035553 ¢ D2 ¢ EK75 O 5 8 10106 +Knl086 ¢ 92 012161
*K3 «107 V35553 &K +98 V 5 8 10106 #543 *ED7 Viz2161
«D3 4 Kn5 473
v KD97 v10 v 976
+ 863 ¢ Kn1064 ¢ ED73
#Kn942 #DKn7652 #KKn92
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 5 INN+4 5 210 140 20|14 1 4v V-1 *A 50 160 00|14 1 3NN= «T 600 16.0 0.0
15 6 INN+4 5 210 140 20|16 11 24 O+3 vT -200 140 20| 3 10 24aDO-2 v6 300 140 20
17 1 INN+4 ¢4 210 140 20| 2 17 4v V= SA -420 6.0 10.0|16 11 44 O-4 v6 200 120 40
4 3 2¢0-2 vK 200 90 70| 3 10 4v 0= *7 -420 6.0 100|18 9 34 0-3 v6 150 100 6.0
10 16 2¢ O-2 «Q 200 90 70| 5 4 4v V= *A -420 6.0 100 5 4 340-2 v7 100 70 9.0
11 7 2NN+2 &T 180 50 11.0|12 8 4v 0= sJ -420 6.0 100|12 8 24DO-1 v6 100 70 9.0
14 12 2NN+2 5 180 50 11.0|13 6 4v 0= &2 -420 60 100|13 6 340-1 &2 50 3.0 13.0
2 9 3&#N= vJ 110 20 140|115 7 4eV= *A -420 6.0 100|15 7 34 V-1 v9 50 3.0 13.0
18 8 24 V-1 A 100 00 16.0|18 9 4vO= »7 -420 6.0 100| 2 17 4v N-1 T -100 0.0 16.0
13 4 E9 Bésta kontrakt 14 4875 Bésta kontrakt 15 & K94 Bésta kontrakt
Nord vE5 3v O =-140 Ost v EK86 3NT S =400 Syd v 1097 54 V =-450
Alla + K10962 Ingen + 109 NS + 1074
#10843 & ¢ v & NT #EKD9 & ¢ v & NT «D1093 & ¢ v o NT
4Knl107643 &K2 N6 8446 « EK6432 4109 N 10108 6 9 4DKnl106 #E732 N66 222
v 10943 v KDKn7 S6 8346 vKn974 v D105 S 10108 6 9 v 6432 v EKKn5 S66222
¢- ¢+ ED54 055987 ¢ Kn ¢ K854 032463 ¢D2 ¢ EG3 07 7 111110
#E52 *976 V559187 *75 #8632 V32463 *E86 *42 vV 7 7 111110
« D85 « DKn « 85
v 862 v32 vD8
¢ Kn873 ¢ ED7632 ¢ KKn985
#KDKn #Kn104 #KKn75
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 11 4v V-3 A 300 160 00|16 12 3NN= v5 400 160 00| 2 10 2NO-2 ¢5 100 16.0 0.0
7 13 2NO-2 ¢7 200 130 30|15 8 3¢ S+2 A 150 140 20| 5 12 2¢ S-1 *A -100 140 20
14 2 2v0-2 K 200 130 30| 7 13 2NN= v5 120 120 40|14 3 2NO= &7 -120 120 4.0
6 5 240-1 K 100 80 80| 1 9 3¢S= «A 110 6.0 100| 7 6 3vO= &5 -140 100 6.0
16 12 3v V-1 4A 100 80 80| 4 11 3¢ N= A 110 6.0 10.0| 8 13 2v O+2 45 -170 70 9.0
18 10 4v O-1 «K 100 80 80|14 2 3¢S= «A 110 6.0 100|16 1 3vO+1 48 -170 70 9.0
15 8 3¢ N-1 vK -100 40 120(17 3 3¢ S= «A 110 6.0 10.0|11 18 4v V+1 &T -450 20 14.0
1 9 340= vA -140 20 14018 10 3¢ S= A 110 6.0 100|115 9 44 O+1 5 -450 20 14.0
17 3 3v V+1l &A -170 00 160 6 5 24V-1 vK 50 00 16.0|17 4 44 O+1 v8 -450 20 14.0
16 4 K3 Bésta kontrakt 17 & Kn9 Bésta kontrakt 18 4« KD643 Bésta kontrakt
Vast v 9754 ANT V =-630 Nord vED107 3v N =140 Ost v EKn104 54 S =650
ov +82 Ingen 4 Kn1095 NS *7
#DKn975 & ¢ v & NT #D32 & ¢ v & NT #EKn4 & ¢ v & NT
« EKn1095 4 D87 N455 33 4 K875 4D1042 N6 9967 4 Kn9 «87 N7 6 8 117
v EKKn v 62 $45533 v 982 v 653 S69 967 v K8 vD9763 S 76 8 117
¢+ E6 ¢ KKn93 O 8 8 6 1010 + 86 ¢E4 073474 ¢ EKKn932 ¢ D4 057 424
#1043 *K862 vV 8 8 6 1010 #EK105 #Kn984 V734734 »D82 #9765 V57424
4642 4« E63 «E1052
vD1083 v KKn4 v52
¢ D10754 ¢ KD732 + 10865
&E »76 #K103
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
5 12 44 V-1 «Q 100 140 20|17 5 3y N+1 +A 170 160 00| 4 14 44 S+1 A 650 150 1.0
7 6 44 V-1 «Q 100 140 20|18 12 INS+2 #A 150 140 20|15 10 44 N+1 +Q 650 150 10
14 3 3NV-1 «Q 100 140 20| 8 7 3vyN= ¢A 140 11.0 50| 3 11 14 N+4 ¢Q 200 8.0 8.0
2 10 24 V+2  v5 -170 100 6.0|13 9 1vy N+2 #8 140 110 50| 6 1 24S+3 +A 200 80 8.0
8 13 2NV +2 &9 -180 80 80| 3 11 2¢ S+2 #A 130 70 90|13 9 34 N+2 ¢Q 200 8.0 8.0
15 9 4a V= *Q -620 6.0 100| 4 14 3¢ S+1 47 130 70 90|16 2 34 N+2 ¢Q 200 80 8.0
11 18 3NV +1 #Q -630 30 13.0| 6 1 INS= a7 90 20 140|118 12 34 S+2 ¢A 200 80 8.0
17 4 3NV+1 &9 -630 3.0 13.0(15 10 INN= a2 90 20 140| 8 7 3aN+1 ¢Q 170 1.0 15.0
16 1 44 V+1 2Q -650 0.0 16016 2 INS= a7 90 20 14017 5 34 N+1 ¢Q 170 1.0 15.0
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19 483 Basta kontrakt 20 4 E752 Basta kontrakt 21 a5 Basta kontrakt
Syd v D53 3NT V =-600 Vast v K1065 44 N =620 Nord v 95 64 O =-980
oV + KKn865 Alla + D9 NS + KDKn10753
#E53 & ¢ v & NT #D62 & ¢ v & NT #KD4 & ¢ v & NT
« D76 » EK95 N45 444 4 K3 » Kn98 N9 9 9 109 « EK1097 48632 N37 304
vKKn762 vE9 S 45 4 44 vDKn93 v872 S99 9 109 vEKn1073 vK6 S37304
+ D72 ¢ E43 087887 + K85 +10743 043 433 ¢ 42 +8 O 104 10126
#DKn #10964 V98999 #EKn93 4854 V44433 +10 *E98652 V 104 10126
& Kn1042 «D1064 « DKn4
v 1084 vE4 v D842
+ 109 ¢ EKn62 + E96
*K872 »K107 #Kn73
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 12 2NO-2 ¢T 200 160 00| 7 2 3NS+1 &9 630 160 00(14 6 34 0+1 +A -170  16.0 0.0
7 2 3NO-1 ¢T 100 140 20| 4 12 3NN= v2 600 140 20| 8 3 5¢ N-3 3 -300 140 2.0
9 8 2¢ N-2 vA -100 120 40| 5 14 3a N+1 v2 170 110 50| 5 1 44 0= *A -420 100 6.0
15 11 2NO= *T -120 100 60| 9 8 34S+1 #3 170 11.0 50|13 11 4e V= +K -420 100 6.0
13 10 34 O= *2 -140 80 80|13 10 34 S= vQ 140 70 90|17 7 44 0= *K -420 100 6.0
5 14 3NV= +8 -600 40 120(16 3 24 N+1 v2 140 70 9.0(10 9 44 0+1 +A -450 5.0 11.0
16 3 3NO= a4 -600 40 120(17 6 INS= *2 90 40 120(16 4 44 V+1l ¢K -450 5.0 11.0
18 1 3NV= +5 -600 40 120(15 11 44 S-1 *A -100 1.0 15.0|12 15 5¢DN-2 #A -500 2.0 14.0
17 6 3NO+1 44 -630 0.0 16.0(18 1 44 N-1 v2 -100 10 150|18 2 54DV= K -650 0.0 16.0
22 4 KKn3 Basta kontrakt 23 4 Kn874 Basta kontrakt 24 & KKn9752 Basta kontrakt
Ost vK4 2¢ S =90 Syd vE72 INTV =-90 Vast v3 5v VD-1100
ov + K974 Alla + Kn853 Ingen + Knl0
#E1094 & ¢ v & NT #D3 & ¢ v & NT #8743 & ¢ v & NT
«E5 21097642 N 7 8 6 6 6 D109 4EK6 NS5 7776 |46 »1083 N9 7 3 104
vKn10876 vD2 S7 8666 v 109 v KD6 S5 7 7 7 6 | vyKDKn10854 vE972 S 9 7 3 104
¢ 105 ¢ EKn8 065776 ¢1097 #0642 O7 656 7 |+86 ¢ EK94 04 5 103 5
#KKn53 *D6 V6577¢6 #K9765 #Kn1042 V7656 7 |#D95 #Kn6 V 45 103 5
«D8 4532 ~ED4
v E953 v Kn8543 v6
+ D632 ¢ EKD ¢ D7532
*872 »E8 #EK102
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 1 2¢ N+1 T 110 150 10|11 10 2v S= «7 110 160 00| 6 2 5¢vDV-1 ¢J 100 16.0 0.0
8 3 2¢N+1 ¢Q 110 150 10| 9 4 INS= *7 90 120 40(14 7 5vV-1 +J 50 140 20
12 15 24 O-1 «2 100 120 40|14 7 INS= *5 90 120 40| 5 16 3v V+1 ¢ -170 100 6.0
14 6 4¢ N-1 vQ -50 100 6.0{17 8 INS= *5 90 120 40|11 10 3v V+1 &7 -170 100 6.0
10 9 INS-2 vJ] -100 70 90| 5 16 2vS-1 *T -100 70 90|18 3 3vV+l ¢J -170 100 6.0
16 4 3#S-2 & A -100 70 90(18 3 INN-1 *4 -100 70 90| 9 4 4v V= *J -420 3.0 13.0
13 11 2v V= *7 -110 30 130| 6 2 3vS-2 49 -200 20 14012 13 4v V= +J -420 3.0 13.0
18 2 24 0= *2 -110 3.0 13.0|12 13 4v S-2 *7 -200 20 14015 1 4v V= *4 -420 3.0 13.0
17 7 24 O+3 &7 -200 00 160(15 1 3¢ S-2 *5 -200 20 140|17 8 4v V= 49 -420 3.0 13.0
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